RSMSSB Previous Year Paper

Civil Engineering (Diploma)
J E 18 May 2022



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

* Mohanlal, honoured with National award, is
related to which of the follov;ring art?
(A) Molela terracotta art

(B) Bandhej art

: g i b
(C) Theva art ﬁ

(D) Usta art

ST REBR W Agarel fha Riea wen
¥ Gefo 87

(A) Hretam gofd wer

(B) Fer%7 Farm

(C) <rar T

(D) S=IT Ferr

- Which forests are found in Rajasthan with an
average annual rainfall of 75 to 110 cm?

(A) Mixed deciduous forest

(B) Subtropical evergreen forest

(C) Dry teak forest

(D) Dry forest

AT 75 F 110 GA. S a9f arer 8
H ®HE 9+ IR AT §7

(A) fafera yeerg o9

(B) Tqro HEtgeR a+

(©) = |rTarE a9

(D) g1 g7

3. Read the following statements about Rajasthan

Guaranteed Delivery of Pubhc Services Act

2011 -

(1) It was launched with 108 services of 15
government department.

(i1) In the calculation of stipulated time to
deliver a service, official holidays are
excluded.

'Choose the correct code -

(A) Only (ii) is true

(B) Neither (i) nor (ii) is true
(C) Both (i) and (ii) are true
(D) Only (i) is true

W dIe HIRl @ U @ TNer

arlﬁﬁm—zou-cﬁaﬁﬁam‘rﬁﬂﬁaam:ﬁﬁ

gfey —
(1)%%%15%%1’[3%108
Jarelt | @ TS |

¥ XTSI BT BT BT SITaT 2|

g BE BT T PG —

(R) Bae (i) T& &

(B) 7 a1 (i) T & (i) wey 2
(©) (i) Td (i) T w &
(D) Bae (i) wEr ]

- Which districts are benefited by Gajner lift

canal?

(A) Bikaner — Ganganagar
(B) Jodhpur — Jaisalmer
(C) Bikaner - Jodhpur -
(D) Bikaner — Nagaur

'aﬂq@rmwwWamﬁw—a'

#
(A) frprR — ‘TTFFFR
(B) SR — AR
(C) fH™R — TR

(D) FH™R — AR

11235 =

Page 2 of 24

'(n)ﬁarqumﬁﬁmfﬁamaam A

)


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

llowing are not under the
5. Which one of the following (Inscription - 7. Who among the fo g

: f enquiry of Lokayukta in Rajasthan?
District/Place) is not correctly matched? purview oXSId : ge

(i) Ministers
(A) Manmori-Chittor (ii) Department Secretaries
(B) Chin.va-Udaipur (i) Employees of State Assembly Secretariat

i ountant General, Rajasthan
(C) Basantgarh-Sirohi (iv) Acc ‘

Choose the correct code —
(D) Ghatiyal-Jaisalmer

(A) (i) & (iv) (B) (i), (ii) & (iv)
(©) (i) & (iv) (D) only (iv)
Frfafea ¥ & s (g / Riemera —
: Frefeiad # | @1 ToreE ¥ Alergad
e/ wrm) fer =8t 22 e
' Sig @ SRR § FE ema?
Tk
(A) FrER—facdts e HE .
(B) ARar-STagR (i) frmirr |
(C) TH=TTe—RRET ' (iii) XoT ferm @1 AREEy @ 9
: (V) TEOETER — XTSRRI
. N el dT B AT BT —
6. Who inaugurated ‘Greater Rajasthan’ on 30 .(A) (i) 99 Gv) (B) (i), (i) TF (iv)
March, 19497 - (€ (i) T4 (iv) (®) I (iv)
(A) Sardar Vallabh Bhai Patel - 8. The Atal Bhujal Yojana is implemented with
: ' ' financial assistance of the —
(B) Hiralal Shastri

: (A) Japan International Cooperative Agency
(C) Pt. Jawahar Lal Nehru

(B) Asian Development Bank

. Agency
qeg I BT SqUeH 30 AE, 1949 B (D) World Bank .
P meﬂfﬂ%ﬁﬁamﬁm
(A) HYER doord ATE Ucd _ N T |
(B) ERTeiTel A : (A’WWWW
®) vt R oo
(C) Y. TaTERaTel E% © $ifvan

(D) 7. &, TrSfirer

112 88 : ':_IPageaol_z_at
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10.

11.

12.

o e e

112,38

‘Seif” is a -

(A) Mountain Peak in Aravali
(B) Parabolic Sand Dune

(C) Longitudinal Sand Dune
(D) Transverse Sand Dune .
HE & uE — ﬁ
(A) aRTael gda # @l

(B) WRraifere argdT FU

(©) srgeed argHT T

(D) 3wl AT WA |

Which one of the following lakes of Rajasthan
does not come under the National Lake

Conservation Program?
(A) Pichhola
(C) Fateh Sagar

o @ Prefkad e d W B
27

(A) frerer (B) Piemmad

(C) ®efE FR (D) 37T AR
Dadhimati Mata Temple is situated at -

(A) Goth-Manglod (Nagaur)

(B) Kansuwa (Kota)

(C) Osian (Jodhpur)

(D) Piplud (Barmer)

dradn A @1 afex R 8 —

(A) Te—ATTAE (AFR)

(B) HgAT (F1eT)

(©) wfaar (o)

(D) Y19e7= (aTSHH)

On which Massacre of Rajasthan Gandhi ji
remarked as “Dual Dyershahi”?

(A) Neemuchana (B) Dabi

(C) Begun (D) Mangarh

(B) Kolayat
(D) Ana Sagar

IO & g Aeder 1 i o ¥ e
SIRATE" 61 wHgr €77
(A) ATETH]

(€) a1,

(B) grd
(D) 971G

- 13.

14.

15.

16.

17.

Page 4 of 24

British Cantonments in Rajasthan during the

revolt of 1857 were —
(A) 8
(C) 5

ISS?H%W@%WWH.T?W
wrafaar off —

(8) 3
(D) 6

(A) 8 (B) 3

€5 (D) 6

Which Mughal emperor present‘ed the Shergarh
Fort to Kota Maharao Bhim Singh as a reward?
(A) Shahjahan (B) Shah Alam

(C) Farrukhsiyar (D) Aurangzeb

fa T EIe | PiCl TERE ARz a1
REBR WHY IS BT Bt HeT forar ar?
(A) eTel (B) ¥ M

(C) BIERIAY (D) RToIE

The total lgngth of railway route in Rajasthan as
on March 2020 was -

(A) 5998 km (B) 5737 km

(C) 5800 km (D) 5837 km
qﬁizozoazﬁmmmﬁmrrﬁaﬁfgam
AP J

(A) 5998 fobHl. (8) 5737 f&AL.

(C) 5800 farA. (D) 5837 L

On which part of body is the Toti ornament
worn?

(A) Nose (5} et

(C) Ears | (D) Hand

211 g TR P fapg WAT A G A 2?
e (8) B

(€) &I o S

At the second Saka of Chittor which queen

perfomed Johar?
(A) Jija Bai
(C) Karnavati

(B) Padmini
. (D) Jasmati

reivs b i e ¥ fw ¥R S
or? Y A
(A) SfreTT qTE (B) wgfi

(D) T
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18- Which one of the following is not a Ghan (Auto
phonic) folk instrument?
(A) Hankle

(B) Manjira
(©) Bankia

(D) Chhinpia
Frafifea N @ o w e awr we a
(A) g

(B) s{uhiv
(©) wiferm

(D) =ity

Which of the following is not a folk Drama style
of Rajasthan?

(A) Dhadi
(C) Swang

19.

(B) Khayal
(D) Rammat

ﬁq%ﬁqﬁﬁﬁaﬁmﬁwmﬂﬁmmmu
et T {2

(A) =15 (B) w=rer
(C) = (D) v g

20. The correct sequence of districts located on the

international border of Rajasthan from North to

South is —

(A) Bikaner, Ganganagar, Jaisalmer, Barmer .-
(B) Ganganagar. Barmer, Bikaner, Jaisalmer
(C) Jaisalmer, Bikaner, Barmer, Ganganagar
(D) Ganganagar, Bikaner, Jaisalmer, Barmer

ISR @l ISR W ) Reg Rl &t
IR A e &1 |E B —

(A) IR, TR, STHANR, aEiR

(B) TR, 9TeHR, AR, SRIeHR

(C) SIAerR, dIdBR, ISR, TR

(D) TR, §FTR, SR, AR

The Barli inscription, which.is belicved to be of
Pre-Ashoka Period, is located at -

(A) Tonk (B) Bhilwara

(C) Ajmer (D) Sikar

21,

gl @1 e, S & erend are 9§ qd @
aF e 8, B R 27

(A) i (B) ¥fierarst

(C) e (D) HaR

22.

23.

24,

25.

N R N = v
e L S
RN

Which of the Tollowing (Ancient Arey -

Districts/ District) is not corre

(A) Jangal Desh
Bikaner

(C) Sapadalaksha
Sikar and
JThunjhunu

Recen
ety matchedy
(B) Shivi - Chittorgary |

(D) Arbud - Sirohi

P A Q@ e siae - ade

Rial 7 Rl gl w1 2

(A) sifrerder — Ao (B) fify — Ry

(€) wureEsr — Wk (D) adg — AR
3 SIS

Kishangarh airport is inaugurated on -

(A) October, 2019

(B) October, 2017

(€) October, 2015

(D) October, 2018

T

e

i e AT

[Fermre g s @ agme R T - i
(A) J1qeaR, 2019

(B) 1@y, 2017 Wy
(C) dreream, 2015 B
(D) JEER, 2018 Py

The painter, who is known for his life-sized
porteaits —

(A) Sahibdin of Mewar
(B) Ahmed Ali of Bikaner

() Nihal Chand of Kishangarh
(®) Sahibram of Jaipur

REeR W o anewme i st @ forg
ST ST & —

(A) arg o1 wftad sN

(B) SR @7 aremg oreh

(©) foermre @1 Mer

(®) SrqR w1 wfRawm

Latiyal Mata Temple is located in Rajasthan at
which place?

(A) Phalodi

(B) Ghanerao
(€) Hadvecha

(D) Jasol

afena wen w1 weR Rem R R
R aEferd ? Bl
(A) ) ¥
(C) wsa= A

11238
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26.

27.

28.

29,

Which (Irrigation Projects — District/Districts)

of the following is not correctly matched?

(A) Sawan Bhadon — Kota

(B) Nohar-Sidhmukh - Hanumangarh and
Churu

(C) Som kagdar — Rajsamand

(D) Som-Kamla-Amba —Dungarpur

Prferiaa (Rieré oo — Rren/ Rie) 4
¥ P g T &7

(A) |Tgq &Y — Il

(B) Aex—Rigg@ — TG 3K @’6

(C) | HITER — XTI

(D) HH—FHAT—ITET — FIRYY

The Agriculture done by the Bhils in the hilly
area in Rajasthan is called —

(A) Bewar (B) Dajia

(C) Jhum (D) Chimata

o A Al g el Rl ¥ @ S
qreil HiY HeaTdl & — :

(A) gar (B) &foram ﬁ
(C) 3= (D) frar

During the rule of which Mewar ruler silver was
found in Jawar mines?

(A) Maharana Lakha  (B) Rana Shetra Singh

(C) Rana Hammir (D) Maharana Mokal

ﬁfﬁmwzﬁmwﬁ@ﬁﬁ?ﬁ?ﬁ.

71 wifeq gg ofi?
(R) HERIVI 1Al (B) o1 & Rig
(C) 2on &R (D) HERTOT Hgpoy

Which sect is known for protecting the greenl
trees?

(A) Ramsnehi (B) Bishnoi

(C) Laldasi (D) Niranjani

X gefl ®1 el & fore fonwr g
ST
Srdr 87 el

(A) T (B) fagmng
(©) arererd (D) Forh)

30. Which of the following rituals is related
marriage?
(A) Jalwa Pujan (B) Mausar
(C) Jadula (D) Mooth Bharai

112026142

PrefeRa # & P A v R ¥ vy
2
(A) STear 9T (B) #A=R
(C) Srger (D) & W%
- Which is not correctly matched? o
(A) Blue City — Jodhpur
(B) Gateway of the Desert — Jaisalmer
(C) Gibraltar of Rajasthan — Ajmer
(D) City of hundered Islands — ﬁanswara

112026142

@ g T 2 =
(A) HreTm e — SR 5
(B) HERIT BT YITER — IR
(C) RIS &7 FTTeRR — SR
(D) &Y €4l BT AR — TATST

. Recently in which districts of Rajasthan.

_112026142

deposits of potash have been found?
(A) Kota, Baran
(B) Ganganagar, Bikaner, Nagaur

1120267142

(C) Udaipur, Rajsamand
(D) Jaipur, Sikar
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.Bnlllt‘ of (;i"g()li (P;]rhatsilr)t ([8{)7A D}

33 Who appoints the Protem Speaker in Rajasthan 37. The i between -
- Legislative Assembly? was foug! | Bharatpur
(A) Leader of Opposition (A) Jaipu! :mt] Kn‘l‘; l
- (B) Chief Minister (B) Jaipur A1 N .
(€) Governor (C) Kot and Udaipur
Sinur and J ihpur
(D) Member of Legislative Asembly (D) Jaipur an JOTHPH
RIS R § wed «oR @) ﬁ'{{ﬁﬁ‘ ) R () BTG (1807 %) et vy
o {1¢ .'d.
B FRar 7 - g = | 5
(A) Sar wfygss & (A) SR AR FRAR G 72 s
8) . gi (B) TR AR PIET & TA .
(c)g | (C) Hiel SR SR F T
oy E (D) SRR 3R SR & 7eg
: ) e 38. ‘Chokhelao mahal’ is situated in which fort of
34 Which wildlife santuary is famous for Black N R: -1,0 thati? 7"
—— o ajasthan?
.. i i (A) Hanumangarh fort - (B) Jodhpur fort
(A) Sajjangarh (B) Gajner «p :
4 AN (C) Bikaner fort (D) Amer fort
(C) Sariska (D) Talchhapar )
Ol ;
- AN Hed ORI @ fhd fvel § fer
P TUAG AR BT RRO SR R < 37 '
N ¢ _
a;fc‘—rq A 8 . (A) sgaTTG ot (B) SfrerqR i
By (B) oty o (©) fiFrR g (D) 3R
(C) |Rw=m (D) ATeBTHR I AT
_ _ & &; “In revenue system of dynasties of Rajasthan
Mahi 'Kanchan and Mahi Dhawal are varieties i which land was considered as the private
Of Whlch Crop? cc‘:\ﬁ propcrly u[.‘ lhc l(illg?
(A) Rice (B) Maize 3 (A) Bhaum (B) Jagir
(C) Barley (D) Wheat (C) Khalsy (D) Hawala
& b R0 e 28y sqfiy ooy o o Pl Ry AT
(A) =Tad (B) Hah! CC‘;“i ST op?
(©) =t (D) g g Am (8) ST
In which year the Rajasthan Land Revenue Act <~ . (€) REIR e (D)'E-‘fl‘l?ﬂ
f as enacted? | x:kh“ Tecj falls in the month of -
(A 1955 (B) 1952 A Fulgun (B) Vaisakha
- (©) 1950 (D) 1956 ©) Chwitry (D) Kartik *
- rorearr 4 ¥ord aiftfa fa ad uiRe gon? R N Ry o Hor B
(4 1955 ® 1952 ) e @
(€) 1950 (D) 1956 9 () @it
298 Page 7 of 24
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41

42.

43.

* Consider the {

NN

following statements =
When cement is tested for setting 1
gauging quick  setting.
Phenomenon is known as ‘Flash set’ of
is due to the presence of high -

(1) Tricalcium Aluminate (C3A) in cement
(2) Alkalis in cement

(3) Tricalcium silicate (C38) in cement
Which of these statements are correct?

(A) 1,2and 3 (B) 1 and 2

() 1and 3 (D) 2 and 3

Y on

This
shows ;

Fr=fofeg seel wv far i -

59 g FuiRa o3 & forg dnie &1 oxXerT
T wmar @ AT w® afRa /T R @
HA¥e & Ty 9 B wY F o W drell
Ig Al = &1 IuRIfT & FRT § —

(1) ¥ ¥ gEdferm vegfie (C3A)

(2) die # ar

(3) ¥ # gEdfeaw fufede (C38)

T | P 9 HUF A8 §?

(A) 1,2 3R 3 (B) 1 3R 2

(C) 13R3 (D) 23R 3

Which of the following is not a varnish?

(A) Asphalt varnish  (B) Flat varnish

(C) Spar varnish (D) Methyl varnish

frfeafad § | Piar afte 78 2
(A) TThTee arf=ier (B) woie aififyr
(C) @R arfie (D) fenger aiffsy

Brad’s Test is conducted related to stope -
(A) To check weather resistance

(B) For frost resistance

(C) To check hardness o
(D) None of these '

e 9 Gdlta 9 @1 e gy @
(A) Jrq ufeRe @ Siig R & ferg
(B) S5 U @ ferg

(C) FERA @) S & & faqy

(D) & 1 B1g el

cement’

44. The rise of water level on the upstream ot‘

45.

~(A) 16667.00

46.

structure after the construction . of.
weir/barrage is called as -
(A) Pond level . (B) Afflux

(C) Flood level (D) None of thes

fm/awaa%ﬁﬁima%wma‘{

(A) drerma &1 w/iR (B) & &% @
_ LEIES
(C) 918 &1 wR (D) 579 3 B 78

A property fetches a net annual incom' B
<1000 deducting all outgomgs The capita!

value of the property for the rate of 1nterest;6%' :
will be (in¥ ) -

(B) ¥ 15003.00

(C) % 18000.00 (D) None of the abo

T @Rt il wd ¥ wd B A 100R
g NG T U Bl ¥ | 6% AT 3
ferg wuRt @1 yofiea g arm (oud 3
(A) 16667.003 (B) 15003.002

© 1300000? '

(B) As a dispersing agent
(C) To remove the organic content
(D) None of the above

(A) P & ol Y Qe b BT
(B)Udh o qoie s wa d -
(©) s wrrl @ gem @ RT
(D) & ¥ W off |

nge Bof24
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A7 What is the actual size (mm) of standard

modular brick as per Indian Standards?
(A) 190 x 90 x 90 (B) 200 x 100 % 100
(€) 220x 114x76 (D) None of these

ARUY AEDT D AR TG HiGIeR da @
AIf® anar () @ 82

(A) 190 x 90 x 90
(C) 229 x 114 x 76

(B) 200 x 100 x 100
(D) g1 A BIg T

-~ Magnitude of shear stress induced in a shaft due

to applied torque varies from -
(A) Zero  at

circumference

centre to l'l"lll)(il“l'll'l'l al

(B) Maximum at centre to zero at circumference

(C) Maximum at centre to minimum (not zero)
at circumference

(D) Minimum (not zero) at centre to maximum
at circumference

aﬂgﬁo‘qwaﬂqﬁ%wwﬁﬁﬁa

aroRsqoT ufaer @ aRAT T BT E =

(A) @57 § v ¥ e aRRerfar

(B)?ﬁﬁsﬁm"@riﬁqﬁﬁvﬁﬁﬁ'

(C)zsznarmzﬁaﬂﬁw(ﬁﬂﬁ)
ufRReforil #

(D)ﬁnw(ﬁﬁﬂﬁ)ﬁwqﬁw
T siftrpdd ad

- Drop panel is a structural component in -

(A) Flat slab
(B) Grid floor
(C) Slab-beam system of floor

(D) Flat plate
Sfy G T WRATAT TP L
(A) TUeT Tid

(B) fire TalR
(©) wef @ wa—dm ol

(D) ggeT @I

50.

51.

52.

Page 9 of 24

e — of slenderness ratio of 4 Colump 4

1), then TRE considered as -
(A) gt column (B) Intermediate
column

{C) Long column (D) None of Uicw

oft ASERI BT, TH T W o 3)
3 it g A ST -

(B) wom

(D) z77¥ | %1% 1

(A) Drer
(C) g=r W
Electrical conductivity of medium saline water
at 25°C is of the order of -

(A) 750 to 1500 p ©/ cm

(B) 50 to 100 p ©/ cm i

(€) 250 to 750 p £/ cm .

(D) 100 to 250 p. / cm

25 R Afeaag IR FEM @R U @ fagd
AcAdal fpa w9 B 87

(A) 750 =1 1500 p Q/ cm

(B) 5031 100 . ©/ cm

(€) 250750 u ©/ cm |

() 100250 p &/ cm

Ratio of maximum to average shear Stress ina

circular cross-section is -
() 1.2 (8) 133
© 15 (D) None of these

mmmﬁwﬁ‘m

ST Hftver a7 I ET
CRP) B 133
© 15 (o)sﬂ*ﬂ qﬁ
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' f
53. 1S code recommends that the slope ©

54,

55.

stairs

<hould be between -
(A) 40° to 60°
(C) 15° 10 30°

(B) 25° t0 40°
(D) None of these

1S P e aRan & R wfeEr B e -

3 9 ¥ o wifRy|
(A) 40° 9 60° (B) 25° 9 40°
(©) 15° ¥ 30° (D) T } B T

ISI standard evaporation pan has a diameter
(mm) of -

(A) 1210
(C) 255

(B) 1220
. (D) None of these

IETH A, TS mﬁﬁw T H o™ (ﬁﬁ’r)
‘g s

(A) 1210
(C) 255

(B) 1220
©) 37 F B &

What is the special Character for @ in
AutoCAD?

57.

‘Average End Area Formula” is also kﬂown o
as -

(A) Prismoidal formula
(B) Trapezoidal formula
(C) Simpson’s formula
(D) None of these

(C) Ry ¥

- (D) ST W BIg TE

« A dry sand specimen was tested in a triaxial

machine, with the cell pressure of 50 kPa. If the
deviator stress at failure was 100 kPa, the angle

of shearing resistance is —
(A) 30° (B) 45°
(C) 15° (D) 60°

50kPa @ et TATd & W, TH Fowia
H e g X D A B eor far wa il
uﬁﬁwmwﬁmﬂﬁﬁnﬁﬂalwmm

T ATHUYT TR BT DT § —
(A) 30° (B) 45°
(C) 15° (D) 60°

In the design of circular over head water tﬂﬂks
the rise of dome is taken of -

Where, D = Diameter of ﬁome '
(A) l D (B) ipy

(c) 1 (D) None of :hese

maﬁmmﬁaﬁmﬁwﬂ@“
N Harg o Rrn wrer ® -

wiEt, D = 748 &1 &y
" ip

(B 1p

w}sﬂwﬂﬁ‘i

©1
()SD

(&) % %C (B) % %D
(C) % % DIA (D) % Shift + D
derhe % @ % forg o vt 7 @
(A) % %C (B) % %D 59,
(C) % % DIA (D) % Shift + D
« The process of revolving the telescope above its
vertical axis in the horizontal plane is -
(A) Transiting (B) Transmitting
(C) Swinging (D) Face left
ufka: afRemmor & &) uftar & -
(A) gifufem (B) wiwfafesy
() Rafdi (D) 9% e
o S
Page 10 of 24
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61.

62,

60. The critical section for two way shear is taken

at a distance ............. from periphery of the
column,

Where, d is effective depth,
(A) d

(B) d
"2
€) % (D) None of these

inﬁ%‘hﬂ?%%ﬁﬁaﬁﬂ?ﬁ%ﬂﬂsﬁaﬁzﬁm

SRRy QW o e 2
TR d 99 TERTE ¥
(A) d (B) d
2
“”% (P) 3 & ®1E =&

Moisture Equivalent can be given by -
(A) 2.7x Field capacity

(B) 2.7x Hygroscopic coefficient

(C) 2.7x Permanent Wilting Point

(D) None of these

(A) 2.7x T ear v
(B) 2.7x Aigreifie Ui e
(©) 2.7x warEt o4 fag

(D) 574 1 313

Minimum clear cover provided in the design of

water tank is -

(A) 30 mm
(C) 35 mm

(B) 20 mm
(D) 25 mm

o A R & feemga # far war =g
foeraR TR & —
(A) 30 A
() 35 fa.

(B) 20 fa.
(D) 25 fa,

63.

64.

Usually stiffness of a simply supporteq beam jq
catisfied if the ratio o its span to depth o not
’ d which one of the Fo!lowjng i

excee
A 10 (B) 20

Ry AR N S G A ) gy
e O & AR AR RRIR SR e
arore F W9 RN U A it s gy
T -

(A) 10 (B) 20

(C) 26 (D) 7

The assumptions made in the theory of torsion
are as under —

(A) The materiale of the shaft is
homogeneous, isotropic and perfectly
elastic. '

(B) = The material obey’s Hooke's law and
the. stress remains within limit of
proportionality.

(C) . The twisting couples acts in the
transverse plane only.

(D) All radii remain straight after torsion.

A A&B (B) A,B&C
(C)A,C&D (D) A,B,C&D
IS B Rygic # 1 TS TROTG 39 PR & —

(A e ) wrmht v, sTeEigit

AR T e A vy 2 |
B)  RRyw g & fraw o1 g wRA
' AR T s @ d B AR

REAT ¥ |
©  guaer TR Baer aguR ae §
X F | : LA
D) T @ qr i Froarg Ml <Ed B
(A) A IR B (B) IATB'W'C
© e (D)A. B. c 3?'!'\'13 ,-

12 38
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65.

66.

According to Kennedy, the critical velocity (Vo)
in meters in a channel is the mean velocity
which keeps the channel free from silting of
scouring, 1%:51-\'aluc is given by (where m is
critical VClgé_iiy ratio and D is the depth of the
channel). :;‘Sl\

(A) Vo = 0,84 mD5*

(B) Vo =0.55 mpos*

(©) Vo =0.84 mpos+

@) v = O.géml)o's“ :

BN B SR, @ e e e
T (Vo) T
il i Spe— T gr R
ST & (181 m eyt 3 oo & @ik D
T B TERHE ) |

(A) Vo = 0.§EmDOs*

(B) Vo= 0.55mpos

(C) Vg = 0.84-mDO*

(B) Vo =0.55 mDOS#

Which of the following is a type of argillacegys
rocks?

(A) Syenite

(B) Dolomite
o
(C) Laterite:j_'_'

(D) None oﬁﬁ}’csc
g

2 S U9IeT Hed qAT AURST

67.

68.

69.

- done with a dumpy level?

Page 12 of 24

- 81 foan < w0
(A) Prporfiia e

The total and effective stresges ata dﬂ'l;tﬁ 3
below the top level of water in a'p.dni;'

respectively -

(A) 0.0 and 0.0

(B) 0.3 kg/cm? and 0.3 kg/cm?
(C) 0.3 kg/cm? and 0.0

(D) None of these

TS e 4 o & M w6
BN TERE W Gl AR T T
() 0.0 3% 0.0 PO i
() 0.3 foFa. /812 i 0.3 R, /3
(C) 0.3 faam. /=2 ek 0.0
(D) 74 & 31 7H

The sc;,rap value of a R.C.C. structure will
(A) zero (B) very high

(C) negative (D) positive

wmﬁ.ﬁ.mzﬁ[@qﬂms‘rﬁf
(A) =
(C) oTeid

(B) gga S=
(D) g
Which following type of levelling cannot

(A) Trigonomctric levelling
(B) Profile levelling

© Differential levelling
(D) Reciprocal levelling

frer W R FOR o e S AT

(B) WYHT< Tl
(c) femiRma ﬂ'o’iam
(D) TREARE TAETT

- 3_‘-‘_{?(2)@' [d
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70. Which of the following pairs regarding the
defects in timber are correctly
(1) Upsets -

matched?
Due (o over maturity of

unventilated storage of wood,

(2) Foxiness - Due (o crushing of fibres running

transversely,

(3) Star shakeg — Radial splits widest at the

circumference and diminishing towards the

centre.

(4) Heart shakes — Cracks widest at the centre

and diminishing towards the outer

circumference.

Select the correct answer using the codes given

below :
(A) 1and?2 (B) 3 and 4
(C) 1.3and4 (D) 2 and 4

AHE W STl & oy ¥ et § ¥ P
T FE gHrerd 87

(1) STE — Tl & T §91ER HSROT

e uRugadr & HRT|
(2) AT — fawd fawn 3 we arer et @
FIAT & PRV | |
(3;%%%-@“%“@%
(4) BT Yo — E H G A WK SR
areét gRfy F oK FH ST
W Ry T WD SR
" B
i (B) 331K 4
(D) 231 4

(€) 1,33k 4

Paga 130f 24

A) 15.25,
:B; 20,35, 40 and 75

(c) 20, 25 30 and 40
(D) 10, 15, 20) and 25

N H ;ﬁ'ﬁﬁ?ﬂmqmwmqmm“
1 (a) 15,25,40 3R 75
(B) 20, 35,40 3R 75
(C) 20, 25, 30 81X 40
(D) 10, 15, 20 3R 25
72. In Fergusson’s percentage unit system the circle
is divided into - y

(A) 6 parts
Tl
w4+ (C) 4 parts

e

R statatal

(B) 2 parts
(D) 8 parts

Sl Wl @ uREE g9 TR ¥ g @
oy Fomfra foam e & —

. (&) 6 Wt A (B) 2 Wt

© 4w § (D) 8 Hmff #

’333 Average value of pan coefficient of class-A
¥+ €vaporation pan will be -

e A 0.7 () 0.8
:\; (©) 0.78 (D) None of these

-

T T-A aiiever 8 % 49 e @1 sa
T a1 gnp?
(A) 0.7 (B) 0.8

() 0,78 (D) 7 & B¢ TE

7

s In metric chain number of links per meter run
€~ can be -

&) @ o (8) 4

193 (D) 5
L : SR
e (®) 4



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

[
L ay shear ©
5 The critical scction for two - WY

footing is at the.......c.oovivenes
(Where, d is the effective depth of footing )
(A) Distance 2d from the column face

(B) Distance d from the column face

(©) Distance d/2 from the column face

(D) Face of column

BT B -3 el @ g Befed R

(S1E1, d e 3w e )
(R) w9 Befd A X 2d

(B) & werd A g8 d

(©) g0 d2 =T BT

(D) w9 &1 Be®

76. Live load for crowded condition in the design

of stairs may be taken of -
(R) 3kN/m?
(B) SkN/m’
(C) 6kN/m?

(D) None of these

i B Feome A Mg T Rufy B

ferg @ga A8 B g4 yar f?-mrwmﬁm
g —_

(A) 3KN/mM’

(B) SkN/m’

(C) 6KN/m*

(0) T A B 7

77. A cantilever beam is shown in (he g
moment to be applied at free gng
vertical deflection at that point jg.

,l,g kN

I{ 2m

Figure

(A) 12 kNm anti clockwise
(B) 9 kNm clockwise

(C) 9 kNm anti clockwise
(D) 12 kNm clockwise

(B) 9 kNm <fyomrad
(€) 9 kNm TRt
(D) 12 kNm =fayurrest

78. The end point osnap shortcut is
indicated by a - :

(A) Small triangle

(C) Small circle (D) None

R {4 osnap wiféwe END
v BT IRT I R
(M) BYeT Brw

112/3“/_.\ Sk
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7. The

81,

- The total

objeets — should e selected by

.......................... for stretehing any objeet in

(A) Scleet all method

(8) Picking Method

(C) Cross window selection method
(P) None of the above

ANDS A RN N g ) wiem @ Ry TN

B i BRT fBUT ST wifR0?
(A Wil R &1 g9

(8) g @) R

(©) wiv AL aum faf

(0 g1 A dE N T

lying  between
which can be
irrigated by a canal system is called as -

area drainage

boundaries

(A) Culturable commanded arca
(B) Gross commanded area

(C) Both (A) & (B)

(D) None of these

o P A dwnl @ 9 Rem g e
R U wer women g1 RRifE 3 fRiferet
farany 11 e &, FEedr § =

(A) By A I & cyk

(B) Toper UM & &

(C) i (A) 3R (B)

(D) 3778 Q4 BIg TEI ‘
For a particular material, if the fnf)c!ulus of
elasticity is two times modulus of rigidity, then
the value of Poisson’s ratio will be -

(A) 1 (B) %
(C) f (D) None of these
8

afy < o1 e
R faony <l @ ferd, A1 o g @

Bawar & s @ & T E
Ygure @1 W BT

()
(A) 1 4 :
© & _ (D) g 9 BIE T

]

commanded or -

82. ‘I'he cl'i“cnl

83.

cection for one-way shear is takep

. equal 10 e B _
(a Jistanct equal i
it !

of the column/pedestal,
ce

(he la

where, d 18 offective depth.
1C1G,

B

(A ¢ (B) d
2

G (D) 2d
1

ed e @ Rl Befewd dwE @

e /i P W w®
Ryar STl & |
- orgf d sl TENT B |
(A) ¢ (B) d
2
(C) d (D) 2d
4

A deflection angle is —

(A) Bqual (o the difference bctwcén the
included angle and 180° -

(B) Always less than 90°

(© Equal to the difference between 360° and
the included angle

D
() Always between 270° and 360°

T TR oy

) e 7o o 1800 @ v # AR

TR

(B) Ty 90° %

(©) 3600 i
Y0NSty or b A F IR D

" Page 150f 24
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Jays can
84, The undrained shear strength of soft Rl

be determined in laboratory by -

(A) Direct shear test

(B) Vane shear test

(C) Triaxial compression test

(D) None of these

T PR W o swew A
sl & fuife fa o W 8
(R) yeger sromuor weror
(B) Toidh axmqer gieror
(C) Pl Fdres udeor
@) 379 3 31 =
85. The approximate quantity of brickwork in lime
or cement mortar in foundation and plinth done
by an average artisan per day is -
(A) 45 cu ft (B) 20 cu ft
(C) 35 cu ft (D) 50 cu ft

UF 390 HRER R 9RIfRe o oF areh

fnﬁaﬁ?ﬁa‘aﬁqﬁmﬁﬁt%ﬁﬁmﬁaﬁ
I A= F - -

(A) 45 cu ft (B) 20 cu ft

(C) 35cuft (D) 50 cu ft

86. In a R.C.C. beam of breadth ‘b> and overa]]

depth D exceeding  750mm side face
reinforcement required and allowable areq of
maximum tension reinforcement shall be
respectively -

(A) 0.2% and 0.02 bd
(B) 0.4% and 0.01 bd
(C) 0.1% and 0.04 bd

(B) 0.3% and (.03 bd

U RCC. 4m digE b s Y9 e
17T Wedds 750mm 3 aifdyes I ?T;H‘C,T
{;fg‘«,ﬁﬁ@ H1 Y9 s 3 W arg
P72 k4 Bl g

(A) 0.2% 21 0.02 bd

(B) 0.4% 3R 0,01 bd

(C) 0.1% 31R 0.04 bd

(D) 0.3% 2R 0.03 bd

112 36
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A AR T

87. i "
The difference between the volume obtained by
the end are, formula and

prismoidal formula is
known g5 .

(A) Earthwmk correction
(B) Prismoigy) Correction
() Volume CorTection

(D) Cu W&mre co"cCtiUI]

IR B D oio

— D By
AT ST )
(AJSIWW
®) frvigear T E
(©) g g
(D) Tspa quR

+ 88. R.C.C. roof slab designed as a two way slab if -

(A) The ratio of longer span to shorter span <2

(B) The slab is unsupported at one edge only

(C) The slab is continuous over two opposite

edges only

(D) The ratio of longer span to shorter span>2

RCC. o0 ®H ¢ 4 % & ¥ % o
foran T @ AR - .
(8) A e i B R 1 g R 2
PR B
(B) v et 7 PR R AR E
(c)ﬁamﬁmwwmg
() 4 R 3R B [ 2 S
ke )
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89. Under constant load the creep strain in concrete
is -
(A) Time dependent
(B) Temperature dependent
(C) Moisture dependent
(D) None of these

fARER YR @ dga ddic ¥ fvy a9 ® —

(A) 97y ) iR
(B) amua= W AR ﬁ
(C) 7 R fanix

(D) g9 § B1g L

90. In dry state of soil mass, the shrinkage ratio is

equal to -

(A) Mass specific gravity
(B) True specific gravity
(C) Shrinkage limit

(D) None of these

8 & e B geh v ¥ Gpra
FUTCT aRIEX BIAT g -
(A) g fafire o
(B) weg faf¥re o
(C) Hepra T
(D) g1¥ & PIE AL
91. The soils which plot above the A-line in the
plasticity chart and have liquid limit 55% will
be -
(A) Highly compressible clays
(B) Lower compressible clays
(C) Lower compressible silts
(D) Highly compressible silts

92,

93.

94.

95.

Characteristic strength of M20 concrete i
20MPa. Wwhat is the number of cubes having 28
days compressive strength greater than 20Mpa
out of 100 cubes made with this? |
(A) All (B) 80
(©) 50 (D) 95

Mzw@fzﬁaﬁzzﬁﬁﬂwm@uzwh L
maﬁmom‘fﬁﬁzompmﬁaﬁmzs
ﬁqﬁaﬂwﬁsﬂwﬁﬁaﬁwﬁmm

¥ .
(A) TR () 80
(€) 50 (D) 95

Cement grbuiing of the concrete is measured

in—
_(A) Cubic meter

(B) Meter

(C) Number (D) Square meter

Fee @ dnfe AISFET HY AT AT 8 -

(A) w1 #iex (B) Aiex :
(€) i (D) i Hrex
The correction due to refraction is - |
(A) Zero (B) Additive

(C) Subtractive (D) None of these

(B) e\ sd
1 (D) 5% QA B TE
FL is the length and B the width of the brick

and t° : :
: the thickness of mortar, the relation
elween these i -

@ﬁ@ﬁﬂﬁzﬁﬂaéﬁwmﬁw gt:zﬁ*zt (B) L=B +t
s e Rl o d 5% . (D) L=2B +t

s ML;E?’%‘W@?BQ’?&%WW
) i 0T N TT (8, ot g Qe B A W
(B) g wfed el (&) 1o |
(clwﬂlﬂ%ﬁmﬁm IC}L;SB+2t (B)L=B+t

- page 17 0124 Eedier el
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96. Modulus of rupture of a concrete grade M25 9. In a RC(_Z retaining wall,- a shear key is
s provided, if the — ;
%1l be (in MPa) - (A) Retaining wall is not safe against sliding -
{A) 32 (B) 2.8 (B) Shear stress in the vertical stem is €xcessive .
(©) 30 D) 35 (C) Shear force in the toe slab is more than th
i~ in the heel slab
- : < (D) Retaining wall is not safe against over -
NI T8 M25 - \% e :
q‘ﬁ“@ 125 & g @1 7uie (MPa ) i biding
BT — g '
@ 35 B33 c; ts RCC Refm dfa #, U gy G
] “ —  YEH @ ol g Al -
©) 30 (D) 3.5 (A) RefTr dfer fbvre™ & gRPera =78 &
97. 24 _ Hours water absorption of granite should (B) TealR ©x ¥ Igwuvr ufrae ARG
not be greater than - & & :
&) 105 ®) 1o ' (©) Temr vg § Faxed 79 v B W 9 g
. . %ﬁ 4 ¥ gren @
-~ ¥ #r . .
© 5% ©) 15% o O ReF e sher — =i & Rerems e
() . ;
N TE R
-4 U< TAIEE &1 wiel {@eer ¥ aftve gimu- Select ‘the incorrect statement from the
M TRy — : ﬁ following pertaining to design of a graded
——— n filter -
- ;
) 10% B) 1% (A) To avoid segregation, filter should contain
(C) 54 (D) 15% c%; particles of size larger than 75 mm.
98. The buckling load for a given material depends |~ () For proper working, the filter material
E g - should not contain more than 5% of fines
MpoR - & passing 75 micron IS sieve. :
(A) Porsson’s ratio and Modulus of elasticity ‘_CB (C) The material of the last layer should be
(B) Slenderness ratio and Cross-sectional area - o CPOUgh fiot he cartied aw:ay through
the openings of the perforated pipes.
(C) Poisson’s ratio and Slenderness ratio e (D) None of these
(D) Slenderness ratio and Modulus of elasticit i
T lo e e @ R el Pl 3
, , N e B T - :
fe= 21 T |aEnh % foan gefn ok S22 :
o C iy N (A) goormver § g B g, fbeex # 75 Bl
— SR = S
FRAT 2 - q I ABR D U BN AT
(A) 9Tz ST 3R YRR oy (B) I & &M FRA & forg, foeex Wl &
s i AP AETH Ferl A [orA at 5%
(B) welev e AU SR SR e oy 5 N |
: W s w8 B 98 @R Wik
(©) 3ift wRa & W a WS | WY o
(C) 9TgT SFUT I ST Jpurg for BT i @ g @ MM A A
g o WY '
(D) FeASIH U 3R YegRery 1o : _
L= (0) 57 & P =& \
112 86 Page 18 of 24
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101. For well — graded gravel the coefficient of

uniformity should be -

(A) zero B) >0
€ >2 (D) >4
N
B i_
sl e afipa IO @ g wm ww @ 7
Ui B =IRY — AL
(' \]
(A) (B) >6 51
€ =2 (D) >4
102. For an annual flood series arranged in ‘»;f
decreasing order of magnitude, the return :;
period for a magnitude listed at position ‘m’ in L?:E
a total of ‘N’ entries, by Weibull formula is - :\,.]
(A) (N+1) (8) ™ I
m N
C N D m
: )m+1 { )m+n Eﬁ
4
_ oo
oRATT @ "ed w9 4 aRen Aie dre o
Jawsit @ for, 439 wF N @ N fafea oY
i

F Rafd m 9= @w 17 uRReer & forg ufafdar
Iaer g —

(A) (N+1) (B) m
m N

(C) _N (D) _m
m+1 (N+1)

AADNDCANAD
t LY i

103. The bound water (by weight)% required for

complete hydration of cement is abou -

(A) 40% (B) 15%
(C) 38% (D) 23%

fewdy & gof Sreritom @ forg airwrs @A
OISt (a5 @ SRR)% AT ¢ —

- (A) 409 (B) 15%
© 38% (D) 239
-\-“—_'_'—'i—— S

23

-

Page 10 of 24

104. The bricks which are exleﬂsi\'c]y — %
refractorics in [urnaces arc —

(A) Magnesite bricks

(B) Forsterite bricks
(©) gjjlimanite bricks
(D) Chrome bricks

(A) HERIEE ¥

(B) BIETEC §C san

(C) RiferieTge €< : |
(D) F1¥ 3 |

105. Which of the following is not a vehicle in
paints?
(A) Linseed oil
(C) Tung oil

ArfaRad o | iar U ¥ a8 TE 87
(A) et @ A B1(B) IRYT I
X7 _
(C) T T T (D) TRE F1 e
106. A B

ZAY &

Choose the correct option for the beam shown
above —

(A) Determinate and stable
:(B) Determinate and unstable
(©) Indeterminate and unstable
(D) lndclerminate and stable

AN
SR Ry g ey o g @ REe T ~ '_

(A) Pl M e

'fB) f?rﬁ:a-
(©) “‘ﬁ'ﬁ: 3T aifer

(B) Turpentine oil
(P) Poppy oil

et
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107 Honeycomb brickwork shall be taken in - 110. For the irrigation of a crop the base period B (in

(A) Sq. m, (B) Cu. m. day), depth of water A (in meter) are related to
(©) Cu. 11, (D) Nonc of these e il T i B curmec) ifdhe Beld i
- B) 864xB _
O de @ Ry s - (A) 864 xD =B e
(A) @ Hfiex 3 (B) u+7 ex 7 (C) 0864x4 _ (D) None of these

(€) u7 fse 3 (P) g7 A B 7S ’

108. Ordinary Portland cement should have surface’

UF wee B .Rierg @ g R eafy B (Re

area not less than (in m¥kg) -

(A) 225 ®)300 e W), O B TEE A (e} #) &3 ¥ sda p
(©) 215 (P) 325 E ERIR/TTP) ¥ Wi & —
.| ®suxp-p @esxs _

R Gidets - Wie o1 waw Same ¥ A _

TE B AR (m¥kg #H) — (€) 235;—*_“: D . Oz Qo T _'_;:
4

i, (i 300 111.-‘T'he-rat.c of heat of hydration of the four

(© 215 (D) 325

Bbgue’s compounds in descending order is -
109. The slope of e - log p curve for a'soil mass.

(A) C4AF, C3A, CsS, C:8
gives — j : .
' _ ‘ (B) C38, Cs8, ¢
(A) Coefficient of Volumecompressibility, my (s _ 25, C3A, C4AF
(B) Coefficient of consolidation, C, : “_:) C4AF, C3A, C:8, C58

(C) Compression index C.

(D) Cs8, C3A, C38, C4AF
(D) Coefficient of permeability, k

mﬂﬁwﬁwﬂnﬁﬁaﬁ%mﬁwaﬁf |
ﬁ@a\?,ma\?%ﬁ’g-iﬁﬂﬂwm' S |
A e B — |
(A) STt ST T i, . (A) C4AF, C3A, €3, 08
(B) e 9T 7T, C, (B) C:S, C:8, A, AR
(©) widreT ga@ia®, C. (C) C4AF, C1A, €38, C:S
(D) URTRIET T OISR, k (D) Cs8, C3A, €38, CLAF
1128 -
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112. Which of the following survey do not follow the 115. [pfiltration rat€ is always -

principle of surveying — “Working from whole han the infiltration capacity

(A) Less t
to part”? i g et
[ to or less than the infiltration capacity
(A) Triangulation (B) Tacheometry (B) Equa
he infiltration capacit
(C) Traversing (D) Plane table (C) More than the 1 pacity
(D) Equal to or more than the infiltration
frefofag # 4 @ W1 wdew, wdeEr @ capacity e
AT ol W ARE BT PR AT B E:
T o : g @Y <% B BN § -
A Q@W i B) ey
i - (A) R @ &l | T
(C) Zafdjm (D) @ 29e

(B)ﬁﬂmaﬁw$wmmw

113. In the design of water tank for thickness upto

- (C) Rmg o1 & & SATET

100mm, minimum percentage of reinforcement

should be - (D) R & &aT B IR 1 IaW oD
(A) 0.1% (B) 0.4% /
116. The double mass curve technique is adopted
() 0.3% (D) 0.2% |
( o -

o & < @ Romsa § 100 el T @ (A) find the average rainfall over a number of
Hrers @ [T gagerd<ol Bl =i R ... years '
............. B

_ : (B) check the consistency of rainguage records
(A) 0.1% (B) 0.4% ‘

(C) find the nu : Bl
mb o d
(C) 0.3% (D) 0.2% er of raingauge require

; (D) estim i 3 .
114. The limits of percentage P of the longitudinal ate the missing rainfall data.

reinforcement in a column is -

(A) 0.6% to 8% (B) 0.8% to 6% S M 9 qepefies Y arqeTan I & —
(C) 0.15% to 2% (D) 0.8% to 4% (A) 3¢ L e
(B) ¥y o
o v 4 argted s @ e P @ A ReTS o Rerear @ wifa o<1 @
& g :
o © 3 oy
(A) 0.6% ¥ 8% 8) 0.8% % 6% TR Yoy B i L s
s D v ;

© 0.15%% 2% =~ @ 08%W 4% ©) WM gu PRt v S
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LA Poisson's ratio for a material is 0.5, then the

clastic modulus for the mateial is

(A) Four times its shear modulus

B) Three times it shear modulus

©) Indeterminate

) Bqual 1o its shear modulus

MR vl S Ry dgw @ QI 0.5 8, <Y
Em A I wemRerr e 8 -
) S B i @7 T
B)mn:‘:ﬁmﬂnwﬁﬁaﬁhﬂw —
(©) aifuiaf :
(O) 8 A 1w o 7
I*p™ is the standard
amount of w

1 consistency of cement, the

aler used in conducting the initial
setting time test on cement is -

~ (A) 5400 mm

120. A simply supported beam having clear spap

5 m, support width 300 mm, has the crogg

section as shown in figure below. What is the

effective span of the beam as per IS 456?

300 mm

500 mm

000|+

. Figure

(B) 5300 mm
(C) 5200 mm (D) 5150 mm

P WX AR v Rt we gre 5 e,
HrerE 300 fanf), & A Pra-dae € ST

%ﬁaﬁﬁmw%ums&a%ﬁm
BRT B P S Ty 87

300 mm -

500 mm
Q00 |T

Figure
(A) 5400 fapsy (B) 5300 fary.

(C) 5200 iyt (D) 5150 frsft.

(A) 0.65p (B) 0.6p
(©) 0.78p (D) 0.85p
R p' Wil B A Roar & <t Wnte o
WD AR W R e i Ry
MR IR o
(A) 0.65p ®) 06p
(©) 0.78p (D) 0.85p
19-1In a reinforced and plain concrete footing
resting on soil, thickness at the edge of footing
shall not be less than "-
(A) 10 cm (B) 20 cm
(C) 25 cm (B) None of these
% yaferd ok @R wie amR W e W
fasmr & amuR @ R 9 Ao A B
8 Brf | |
(A) 10440 (B) 20 w1+,
(©) 25 9. (O) & ¥ I et
112 3
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